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Answer Any FIVE FULL Questions

3(a)

(b)
4a)

(b)

- Write a short note on the following:

(i) Photo diode (ii) Light emitting diode

Design an adder circuit using an op-amp to obtain an output voltage of Vo=
-[2V1+3V2+5V3] Given Rf = 10kQ

With a neat diagram, explain how an op-amp can be used as a differentiator.

A non-inverting amplifier circuit has an input resistance of 10K and _
feedback resistance 60KQ,with load resistance of 47KQ.Draw the circuit. Calculate the output voltage,

voltage gain, load current when the input voltage is 1.5V.

For an op-amp (i) List the characteristics of an ideal op-amp and (ii) Draw the three input inverting summer
circuit and derive an expression for its output voltage.

Explain the operation of Full wave bridge rectifier with neat and clean diagram. Also derive the Ipc, Ipms
,Pac ,Ppc and Efficiency for this rectifier. _
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(b)

8(a)
(b)

6(a) Designa Zener Voltage Regulator to meet the following specification Output voltage=5V, Load current  [05]
=10 mA, Zener Wattage=100 mW , input voltage=10V+2V, Iz min =5mA.
(b)  Explain Full wave rectifier with capacitor filter in detaii with necessary waveforms [05]
7(a)  Find the output Vo of following op-amp circuit [05]
ook
ot
° g Vo .
Viz sV 2
Z
What is Zener diode? With neat circuit diagram, explain load and Line regulation using Zener diode. [05]

Draw and Explain the working of an inverting op-amp. Derive

The input to the basic differentiator circuit is a sinusoidal volta
1.5KHz. Find the output if, Rf=100KQ2 and C1=1pF.

the expression for its voltage gain. [05]

ge of peak value of 10mV and frequency  [05]
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